N

i

L SEESINVISAOEFEIN

FR29ME1 A 29 BT 7 H Tk B s

SEN i k) % IR A
@ - 3 C ZAD HHC —
ZAD ifjﬁ;? (%8 BkT) HTE 3,466
N ENES ABC —
O | =15 T (B B T, 2,535
- 3 RE 5 —
© ZRXL Sl (Z%r% S5 HEFT R, 1,915
© | Km 7 (i ij)“ A AR 1,840
CHERNSE 52 (Fp25 #7) A AL PEH 1,822
@ ZDHE Z0DHE HLYHE AT
iE&ZIK ;Bb@wé?)% (tEZIK SER) MR 1,684
=D D5 5 FADM -
O | gk Ao (Pegk K12) EUR 1,622
- N = 5 5 N s p—
O | »es Fuik &L Fu WATR 1,564
© 2o Fods i e NG 1,485
G N LY . \éfj\[,\ Ly 35 .
O | ik 1<a (ST ABERD) EUR 1,484
e . - <3N F3 N
O | ¥ ¥z CGE k) A3 1,473
- . Vv TE z dv) q .
O | zars bkt e dh T I 1,458.258
@ #2 5 . #55 &£LHT N
;;rﬁ i (3 ) NIRRT 1,439
% 7% Ly DR & 73 Ly Al
o | ¥k fr e kD) H AR 1,330
@ ‘I'i%f:’ FZE FI0Y =
HH FX0v G EES) PR 1,321
@ [AY0%:\Y o) Y] ?*5% N Je
nlll ki el & SIS 1,307
£ =5 N
O | rirse 1H] Cfpy [EB]) | A 1,301
O | i vcos (FeE A PR 1,235
o e ApUB22 T AT
[ (B8 5—pg BT 1,222
@ ibi = é\bi E THhE AT
z;zﬁ@;(_é&;é“ (BEA HAI) ATy 1,201
© % Gk X5 e, 1,187
[y i N .
O | mxp Fhy LS D TR 1,184
O | Tk FxrL (s Hifs) | P 1,151
O | ot s (T #fp) | AAIEN 1,055
4__‘( g =} q .
© | & iiid (%f% %1 T I 1,031
O | 25 i Col ) IR 948
EN-3 EWdiy ENE-3 Eudit —
E/Vzﬁ j@% (EAk D TR 878
ZhES 50 ZAES 51 —
ik % Gig 275 ST 638.741
J‘ImEli D30T MR 217
e 5 MR 159
TpEE oty e
SRl S BT 139
HEHGEE(A) 41.291.999
WA (B) ’ ():0()1
HihBEH (C=A+DB) 41,292
e AL (D) 488
K (E=C+D) 41.780
R (F) 0
RZH(G) 0
?i%%ff/ﬁ\ii(H—E+F+G) 41,780
EEGES
= 397.038
HLEEW RN S, 158.815

B EE PR AE 02 21004y
B ISR T ) . 23883557




